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Eg. 25 nicotine amounts in mg for nonfiltered king-size cigarettes.

DLERARKBAHR OO OG

Construct a frequency distribution.

Amount of nicotine - Frequency
1.0-1.1 [4
1.2-1.3 _ '
1.4-1.5 _ %
1.6-1.7 3
1.8-1.9 )

@j Cons-{-/mcf qa {M neac 0/ /lS'fn‘Luh(m :

A researcher played a mobile device game for 2 hours.
The objective of the game is to capture as many virtual
characters as possible. The following table shows the
list of characters captured after 2 hours of playing.
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Table 2-1 Full IQ Scores of Low Lead Group and High Lead Group
Low Lead Level (Group 1)
70 85 86 76 84 96 94 56 N5 97 V7 128 899 80 M8 86

141 88 ©6 96 107 86 80 107 1 81 126 B6 99 89 16 106
05 96 50 99 B85 88 120 93 &7 98 T8 100 105 &7 94 89

B0 MM 104 B85 94 75 73 T6 107 88 89 896 V2 o7 7w 107
104 85 76 95 B6 85 T& 86 1M 108 102 77074 82

High Lead Level (Group 3)

50-69 2
70-89 33
90-109 35
110-129 7
130-149 ik

e
;1 Old Faithful Listed below are sorted duration times (seconds) of eruptions of the Old
Faithful geyser in Yellowstone National Park. Use these times to construct a frequency distribu-

tion. Use a class width of 25 seconds and begin with a lower class limit of 125 seconds. e
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' Amount of nicotine Frequency

1.0-11 7

11.2-13 ,
1 14-15 |

1.6-17 | 2



Amount of nicotine Frequency
1.0-1.1 [4
1.2-1.3
14-15
1.6-1.7 <
1.8-1.9 )
Amount of nicotine Frequency Re laiine n .
10-11 (4 Relas fapese ) _ = loof,
1.2-1.3 1 leX e =y,
1.4-15 LBI— (27 - _.Z‘ , //
1.6-1.7 2 (27, ey 1O
1.8-1.9 ) A ( .
— - L < SomX
rotal: (41434190 225
; X fre
/’\ " Cumulatie aecy
Amount of nicotine Frequency
1.0-1.1 [4
1.2-1.3
14-15
1.6-1.7 <
1.8-1.9 )
Amount of nicotine Frequency _ m \Me /: g
1.0-1.1 [4 4 _— 1Y i
1.2-1.3 “ﬁLLg\_
1.4-15 > 2
1.6-17 1 L 24
1.8-1.9 ] = ¢ |« bt

Eg. Find each of the relative and cumulative frequency for the following:
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50-69
70-89
90-109
110-129

130-149
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